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6.5 Part 2 The Law of Sines

The Ambiguous Case

ASA and AAS give us one unigue triangle.
However, if SSA is given, then there are three possibilities:
no triangles, 1 triangle, or 2 triangles.

Because of this, SSA is called the ambiguous case.
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Example 1
Solve the triangle ABC, where A=45°, a=7V2, andb =7.

p=2
A (=g
A ~C ;

= F Sin3y’ _ Sin 10S°
WM B * c
) P + C ST = Zsin (0

= SinB — w l me S\r\%’

ENS 2 T 2T e~ 12.9)

SNnB = L

lm /B = %j\
_WVA%—-\%-G-




6.5 Part 2 The Law of Sines (work).notebook April 16, 2024

Example 2
Solve the triangle ABC, where A =43.1°, a = 186.2, and ‘2418.6.
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Example 3
Solve the triangle ABC, where A=42° a =70, and b =122.
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